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Answers sahould be written in ink. Exam Duration:50 min Mark out of 20:

Question 1 a) An electric field is given by w. Evg_lu_tlg_te {A.dl whir_e} js as shown
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a, cosg —sin
b) Check your answer by resolving the problem through representing A in a = ing cosg || a
cylindrical coordinates. You u may use y S] ¢
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Question 2 : a) Givena uniforn distribution of charges; Ps “p. Cm™ l\dmer the surface of a sphere of radius R. U
____—-——P-_—‘_W- _uw‘-—""'—_ s 2
Gaussian surfaces to determine the electnc l‘ield lntenslty for 0 <"' < oo .
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through the pomt (-2, 0, ,0), anda pomt charge Q sxtumed at point (0,-8,0).
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c) For any vectors 4 and B, whatis

d) Use operations defined on vectors to prove Pythagoras theorem
Ao ( Ax B ) as a nur number‘? prove. ( i A p B e
y e eT _ R ( K ke & /
BB = | M B M\ (P, - MBS |
& &y Qe 17 B?; P\LQJ“"B

2 3-

(¥, 9T - Qo,o o) g
*U-\%V*a St /
E) LA,(:A‘\'P\E\ (}\Y B )

A CRx e
= ArbaB - Abak, - - o ;2;&9 / B it

1 A B - haDyor '// i s
|
P Ze\fo 55 ; Hreeveva



